0,

COvade 12 AP Mable  Belinn
<econ:h
QuactEiom:

@) (1131) = \tba=9, -4

A | V4 [—A
= —8+ba .\-4
b+ L |l =4
= — BB +8A+ba+b
[ 4|
= — 2+l
Z
= —\+7L
(\03 > = (-3 X = 434 >=-T3
¢ 1%:@

(.1, | 4 3&)(;{, - X—BAI;{;’?(-%
| +34 +324 <34 +Q><DC+3>*O
(36 —-2oC + O) (DC.+ 3> — O

}, 1,33-&21,1_221-—4,1 102X +30 =0
: 2
® 3 LT X444 +30F0

2 x %+ xR A LD =0

= 2 =
az <, =%

G\AQ,‘SCW‘OI/\‘, Z

(&)(\) s 2727 -2 3!
X E E)(E R

= s 2 (JT - )
=T (1 @) XD
= Whon — 2 - —=Z =)

i —————

R AN NG Y

S




®
(}0 \\/V\ ‘;6{/\2)(

>0 él‘ﬂL&?C
=S Yo ST

S0 Z AT (050

—

> e colox

= <
a
(HI> \\/V\ =
- P A v l-—DC
= \\\/\/\ S
DL~ OC ¢
\ I -=
- \\M \
o el
=
- \
N
= |\
(&)) | +Sec?h — |4+
cosfH
= Cos2A ) R
_ cosehn 5P
= 2costp—\1+\ |
cos2A cos’A
o
= 2cos h A
COS A Cos®A
= 2
CosdA

= P2 Sec 2hA =FEKHS




@

Quastio n. 2

DC,[jg—{-—B)C_ —_:x*fjﬁ(‘z" ('—Z/D
3 2
+ 33y dU lox = y +xd
Jrexygd y vy
-g - . L — - '3___1
( xﬁ x’)%}% = tj 0 2C
Ay = y-y®* —b=
J;%/ %acjz—’-—x
= () =% =b(-2
3(-2) () —(-2)
=z =-3 NN-=—3
-%

©@ £ = 20(2-2x)" C_g)
S0 = 2o (st (3
F'(c)= 201918(2-32)"" (-3)(~32)(-3)

©) £7 () = 20! (2-3 )% (-3

(ZO-n)j

©6) €76) = 200 (22" (-9 "= 201(-3°
|

O!

(i) £7(0=0




@

£ (01,0
O\V\ — Ay T COS ng(n)
| + 2%1a 2@.)
= 01633

-

Queslipn: &

@5 Vev tical I‘)Sjmpﬁ:ot—e > _=-

Cerovable Di¢ g@.«eh‘mm,‘by > =

N = 7Q2+ o -\ —
AP0 DC,(x,—\—z)
= 1orn Q@ZZC \ '*”%—:C.. "’3"3:.)
o ~=O ;
2 (| + &)
= |
— . >
C= o XThx—-1 — >
oDC S oo =+t 3
= i xPix -y =X —2E
X0 o>C A L
- \\\M — 2> -
o= o0 DC:'*‘Z

("
|

- \Q/\/\ xg—*\ “’i)_

Quocboin:S
(@) £(0)= O -c0s o0 =—\
F“(,D: | —cos 2 =1 4\
. Tntewcept emists os %’V“’Wé
C‘/\mnjc Comn O o )
(b> App | = Ay — 1a<0"\> ‘P‘(DQ) = 14260 2x

A0 =0,S

/

\

. 2
lirn X +x -\

= |

K3
g
('/ 3
KBVV\O\/c«b}:
Diccon b‘/\\A\l_ﬂ?




&),
) Fx)= ez~

2+
E(i) = (Z;x;.\. \\>( :>C+?::: — <>C,Z+~x - \) ( \)
(c+2)% _

= Z_x/z—\—g)(‘_ 12— =2+
>t Lo+ 4 7
= T +lLx+3
X*+ Ux+

O = X +(~x+7%
= Qo+ D +3)

= —\ oc=-2%
C(-)= - f(-3)=-5
(=1, =Y (-2, <)

P60 = (2oea) (7 o re) = (o loe 4.3 (e )

(%4 tsc+W)?
Fl(-)= 2 £ =2

" Local M Loca)l ™Ma %

© = —int: y=o

Xt +>x -\ =0
X = =1 +JS o = —|=F
ra z
CO,bZ =:~-l/bl

8»?/\t (0. -%)




(>

Qe bion: F
-2 b £ -0
x/&_ + A (=T (I&B:<Z‘+T’T43 -
® = 2+ % SLtgarleo -0
™\ m V\Z
et \(9/‘(‘\“ Vo /LL
~ e
s i
Aveo= v | b < 1ba +1bs
N=c0 Y =1 N e
2.
= Vivw é_fj(flz'+ﬁ> + bl Di""_‘/—\a- —\——/-\'>
h=>0| AT U7 Iy KS ks o
—+




@
Question: A

() S1Alx = cosxX
cos(T —2x) =cosx
T - 2 =25C + L2

s
2(( .
-
sc= gt k2T Se= G k2T
ey
e =10
e N
-

(b)}@feo\ f@mzxof‘x +§ cos x Jx

el

| |

W\

=2 2
= U

(o) j‘wSec Xcobtx dx = —cosec >c +¢C

3
-

=4 (3 (e = )T < 268




(O g\cos 26 ¢, G J&
= fC,.MZ&C,oS 26-A6

=4 f s (20+30) 4 sin(20-30) ol &

! 3
\(sz‘:-*h 043( = ZDC(?C—»'L\') ‘ f/ G’C A/yf)c

w’zpa(m u)‘«; (2-0F + ¢

= =
Z
® 3 s
=22 (3¢ 4)* — L (se =) ® +C
'é@ws’do:/\: [0
e ST e BL) ao-n
pEy L = a0
\ \ _
(:" (DC)'; —:D::"i ‘(' C)ql -0 \O~*C+
—~ 0= =7




}

(o) (1) §'= b
Y= 2o -6
¥ \b,
I/\éj(): 3 ’ ‘/:3
Z =
SN,
&y 72=%5 "6 LA2r = 26
f & +2v =3k
+ 1= —ér2<3{;~lr e = BL-2vr
72= 18y — ¢* -

’rz-!%r+}z O

Q’“ 6 Y -12)=0

v=b o =1\
Bl { S o

Q\ﬁﬁ%bO»’\‘« |
fEfOOZ[%kLvﬂ<vﬂ)~kLv

ES

(v -2
O = Rlly® - bkva“——bcL\/z
0= 2klLv¥®-pL Ltu®
0= 2v2(u=-))

\/7’£‘O ov \/::\.;\4/5
4




g@C/tﬁO/\'.B

@\\A,Q/C;b‘ov’\i \

ASLF)V diffecent biirds

2 G204 X (= SFL ¥x0=S740 LS.
= SILNI0T= STLoo L A5 . ..
ZSTFLY B =S FLO00 > US ...

¢ Copital Letbews ovmd d?fit“?; .

Rueoston: 2

P(cea)y==3 S clubs.
p(ﬁny('ub} = ’g-

[N + X +1F-x + 16 H13+8=bF
=%

(b)) 12
o 2




@,

@.b&,&h\cmiq

(&) __\2: - 9434200
Il2lo1 2!

() 10! - s s2L0o0
212121

Questhion' §

Ple) =0, « P(Q‘) =0, b

3
(@) Plx=7)= “Cx08) v (0,9
E = 0,042

(‘0) 9(122,): |\ — P C’DQZ-Z)
=[P e=0) +P (5= ]

} —D"c,o (0,u)% (0,6)"° +°C_ (0, W' b}q
=054

(

b

@ Questbon: b

_ 16 -25 . »z-2T
pf(‘lQL-XC—BZ>‘-"P<—§—‘LZ‘:4— g)
> =P(—\8<L = k)
=P(D Z_%C_(/S)-!'P(OL-ZC_I/Q,)
=0bLbll + QL (a2=0,8833
0,228322 X0 = 23S Canddates

O\\u/eb\@m:?—

~

e
f(c; s



